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QUESTION 1

What HDFS replication factor can be used with Block Volumes to optimize cost?
A3

B.1

C. 4

D.2

Correct Answer: D

QUESTION 2

A file system is built using BM.Standard2.52 Compute shape for File Servers. One 25 Gbps NIC/network card is used to
connect to 10 Block Volumes of 1TB each (max. 4#0MB/s per volume). The other 25 Gbps NIC is used for
sending/receiving data to/from client nodes.

File system client instances which mount the file system are provisioned using VM.Standard2.16 Compute shapes.
(Network bandwidth: 16.4Gbps(2050 MB/s))

What is the max 10 theoretical throughput a client node can get?
A. 2050 MB/s
B. 4800 MB/s
C. 3125 MBI/s
D. 6250 MB/s

Correct Answer: C

QUESTION 3

A Linux visualization instance Is in a public subnet with security list 0.0-0.0/0 for TCP port 22. What other rule do you
absolutely need to be able to connect remotely?

A. Open all protocols for your specific IP address.

B. Create a Stateless Egress rule for port 22

C. Open TCP ports 5900 to 5910 for 0.0.0.0/0.

D. No other additional rules are needed. It is possible to connect as is.

Correct Answer: C
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QUESTION 4

You are comparing different processors for Monte-Carlo simula-tion with millions of single core executions. What
frequency will have the highest impact on the "time to solution" ?

A. All Core Turbo Frequency

B. Base Frequency

C. Only the network throughput will influence Monte Carlo simula-tions.
D. Turbo Frequency

Correct Answer: D

QUESTION 5

What HDFS replication factor should be used for locally attached storage In HDFS?
A 4

B.2

C.3

D.1

Correct Answer: B
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